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z 0 500,000 A500,000
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Hodg 54 2 N 7,002,000 16,002,000 1,000,000
FHTINSIALAL (RHEETH) 2,000,000 1,000,000 1,000,000
403 XSRS TH2 01 & 2,000,000 1,000,000 1,000,000
01 HAI M2 2,000,000 1,000,000 1,000,000
OYLRINEIIALAY  HF 2,000,000,0009 2,000,000 1,000,000 1,000,000
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ag=e )y 55,460,524 56,231,524 AT771,000
= 8,197,000 8,197,000 0
2 0 500,000 £A500,000
S 47,263,524 47,534,524 A271,000
dEaSY 54,905,150 55,676,150 AT771,000
= 8,197,000 8,197,000 0
& 0 500,000 500,000
CS 46,708,150 46,979, 150 A 271,000
A aAIgra=s 28,449,100 27,849,100 600,000
NASsaASSHAMS(ZHAEXE) 5,464,100 4,864,100 600,000
306 £9 = 5,464,100 4,864,100 600,000
01293 5,464,100 4,864,100 600,000
OZ3MeEgAMdSdAL 600,000 0 600,000
ASaAHESS 2,932,000 2,833,000 99,000
dSot0EelERS AR E 300,000 200,000 100,000
308 AXISHHMSOIA 300,000 200,000 100,000
01 UXNEHHBAEx3 300,000 200,000 100,000
O Z=stolEeeREdId2d A
& 300,000,000 300,000 200,000 100,000
FENIIRSIEARY 249,000 250,000 1,000
306 29 = 249,000 250,000 1,000
01293 249,000 250,000 21,000
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MY EHEHINYEY 1,390,850 1,414,850 A 24,000
LS 26,000 50,000 A 24,000
303 Za= 21,000 45,000 A 24,000
01 L& = 21,000 45,000 A 24,000
Oxeggzds 21,000 45,000 A24,000
O=RANRYEEYZ  ZF 14,000,000& 14,000 30,000 16,000
OSRANRLYSEEYS
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oleasy 2,693,700 3,639,700 946,000
JSHOI2aAHATAR 2H X 664,000 610,000 54,000
306 EHE 664,000 610,000 54,000
01 Ed= 664,000 610,000 54,000
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ICTEE A It 7,048,171 6,907,500 140,671
= 720,000 720,000 0
| 554,556 400,000 154,556
< 5,773,615 5,787,500 A 13,885
ICTH AT Y 4,063,671 3,923,000 140,671
= 720,000 720,000 0
J| 554,556 400,000 154,556
< 2,789,115 2,803,000 A 13,885
ICTEAMEIH XS 4,063,671 3,923,000 140,671
= 720,000 720,000 0
Il 554,556 400,000 154,556
< 2,789,115 2,803,000 A 13,885
SAEZICTESS LAY 590,671 450,000 140,671
J| 554,556 400,000 154,556
T 36,115 50,000 A 13,885
403 X SHHMS K201 590,671 450,000 140,671
J| 554,556 400,000 154,556
T 36,115 50,000 A 13,885
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=R [EPNPNY-=In 19,571,017 16,420,017 3,151,000
2 17,505,500 15,638,500 1,867,000
< 2,065,517 781,517 1,284,000
MILIX % Reope 19,281,317 16,130,317 3,151,000
= 17,505,500 15,638,500 1,867,000
< 1,775,817 491,817 1,284,000
X0l A XIAFS e 19,137,317 15,986,317 3,151,000
= 17,505,500 15,638,500 1,867,000
< 1,631,817 347,817 1,284,000
VR IEPUIEEIE SRS 80,000 80,000
= 40,000 40,000
< 40,000 40,000 0
201 Yure A | 40,175 37,000 3,175
= 20,088 18,500 1,588
< 20,087 18,500 1,587
01 At 2+2l 40,175 37,000 3,175
Det+ 2| 23,975 19,000 4,975
OXNSGULXALLNHANBE A2 H NS
2y 23,975,0009 23,975 19,000 4,975
= 11,988 9,500 2,488
< 11,987 9,500 2,487
D9 DS 16,200 18,000 ~1,800
ONUXNZHSS DY HE 16,200,008 16,200 18,000 A 1,800
= 8,100 9,000 £900
< 8,100 9,000 900
202 01 14,825 18,000 A3,175
2 7,412 9,000 A 1,588
< 7,413 9,000 A1,587
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2 3,126,000 1,259,000 1,867,000
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2 1,842,000 1,259,000 583,000
RS PEES 1,842,000 1,259,000 583,000
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